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KOSPI*3% +
OfZ BP S AX| (= 2/ 1~2 H=)*97%

KOSPI*3%
BP ZatxiHX|$ 20X 1-2Y*27%
+ [KIS &LH7|X|2(1-2Y)*55%
+ KIS Z=7|X|2=(2-3Y)*40%
+ Call X|£=*5%]*70%
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Ofo|ChA 7420 50 A2 K%
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SANERHIE 1 S(FAEY
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KOSPI*5% +
OiZ BP S X =(= 2/ 1~2 22)*95%

KOSPI*5%
i BP ZEAHAEX|S 1KY 1-2Y*45%
+ [KIS ZEH7| X|4:(1-2Y)*55%
+ KIS &7|X|5=(2-3Y)*40%
+ Call X|4*5%]*50%
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Olo|CFA £ 0| 50 EA
RHERFAIE 1 (A ET

KOSPI*5%
+04% BP ZEM B (A
1~21~21~2 HE )*95%

KOSPI*5%
+ O§Z BP ZEHHHK|S 20K 1-2Y*45%
+ [KIS ZEH7|X|45(1-2Y)*55%
+ KIS Z7|X|4(2-3Y)*40%
+ Call X|2*5%]*50%
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KOSPI*7% +
047 BP S K| $(2 DAY 1~2 42)*93%

KOSPI*7%
+ O§Z BP ZEHYHK|L 20K 1-2Y*63%
+ [KIS ZEH7|X|£(1-2Y)*55%
+ KIS Z7|X|4(2-3Y)*40%
+ Call X|£:*5%]*30%

KOSPI*7% +
042 BP S AKX (Z 0K 1~2 HE)*93%

KOSPI*7%
+ 04 BP S X = 0K 1-2Y*63%
+ [KIS &L X|4=(1-2Y)*55%
+ KIS &7|X|5=(2-3Y)*40%
+ Call X|%=*5%]*30%

KOSPI*9%

KOSPI*9% + 04 BP =& M X|==10K) 1-2Y*81%

Ofo|CtAZ{£0] 90 =3 N N
+ O BP Z&hA| =SHA| X2 21K 1- + (KIS ZCH7|X|4=(1-2Y)*55%

RHERHAIEF 1 S (FA)

2Y*91% + KIS &7|X|4=(2-3Y)*40%

+ Call X|#=*5%}*10%
KOSPI*50%

OfO|CtA S 2 A CHE R (KOSPI)*50% + {KIS ZLH7|X|2(1-2Y)*55%

+ O} BP STA|HX|4 2R 1-2 H*50%

+ KIS &7|X|4=(2-3Y)*40%
+Call X|£=*5%}*50%
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